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INSTRUCTIONS AND INFORMATION

GENERAL

1.
2.

Do not open the booklet until told to do so by your teacher.

You may use any teaching aids normally available in your classroom, such as MAB blocks, counters,
currency, calculators, play money etc. You are allowed to work on scrap paper and teachers may explain
the meaning of words in the paper. Mobile phones are not permitted.

Diagrams are NOT drawn to scale. They are intended only as aids.

4. There are 25 multiple-choice questions, each requiring a single answer, and 5 questions that require a whole

number answer between 0 and 999. The questions generally get harder as you work through the paper.
There is no penalty for an incorrect response.

This is a competition not a test; do not expect to answer all questions. You are only competing against your
own year in your own country/Australian state so different years doing the same paper are not compared.

Read the instructions on the answer sheet carefully. Ensure your name, school name and school year are
entered. It is your responsibility to correctly code your answer sheet.

. When your teacher gives the signal, begin working on the problems.

THE ANSWER SHEET

1.
2.

3.

Use only lead pencil.
Record your answers on the reverse of the answer sheet (not on the question paper) by FULLY colouring
the circle matching your answer.

Your answer sheet will be scanned. The optical scanner will attempt to read all markings even if they are in
the wrong places, so please be careful not to doodle or write anything extra on the answer sheet. 1f you want
to change an answer or remove any marks, use a plastic eraser and be sure to remove all marks and smudges.

INTEGRITY OF THE COMPETITION

The AMT reserves the right to re-examine students before deciding whether to grant official status to their score.
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Questions 1 to 10, 3 marks each
B 4 InfEsE T2 e

What is double 47
(A) 2 (B) 3 (C) 8 (D) 12 (E) 24

AR E R AR A 10 AR
Which pattern has exactly 10 dots?

(XX X og0 °
(AMeeoe (B)oooe Cleeoe (D) o% (E) o2 Qe
oo eeee oo %o oo%
H R AR TR 6 A5 3 A4
(A) A= (B) A= (C) =+~
(D) AEZE= (E) At—
Which of the following is the same as 6 tens and 3 ones?
(A) sixty-three (B) six and three (C) thirty-six
(D) six hundred and three (E) sixty-one

LEKE 11 EA AN R EIRFIC 190 iEEL S — MR 4

When I add 11 and another number, I get 19. What is the other number?
(A) 7 (B) 8 (C)9 (D) 10 (E) 11

A X AR T B A2

What is the diameter of this coin?

(A) 20 mm (B) 21 mm (C) 22mm
(D) 25 mm (E) 30 mm

millimetres

T ) B R T A ) Rl 2082

Which one of these numbers is closest to 2087
(A) 190 (B) 200 (C) 205 (D) 210 (E) 218
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AU 7 REER ERASCH A X AN I
fk e B R, B A RIE . T
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Kate made this necklace from alphabet beads.

A\

She put it on the wrong way around, showing
the back of the beads. What does this look like?

" kvie

H—K, B KESEREYIERIRIGEER A

2R 8: 30 FFG.

H & KEMRIFA SRR 15 248 & —

\ K YR W i A B Tl B 20 434
-y

B R E LS A A S FEH & ?

(A) 4 5 bh (B) 4 15 4p4h
(D) 45 45 454

Each day, tours of Parliament House and g
the National Museum begin at 8.30 am. The
tours for Parliament House leave every 15 IMnn

minutes and the tours for the National Mu- parliament house

seum leave every 20 minutes.

national
museum

54—

How often do the tours leave at the same
time?

every 15 minutes every 20 minutes

S ~ >/

(A) every 5 minutes (B) every 15 minutes (C) every 30 minutes

(D) every 45 minutes (E) every 60 minutes
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9. ZAPRPAEBSERE RN Y. N SEFFE BERNEY
DR AR AR AL, HEEE Class 3P: Favourite Pets
TIX 1=, 15
CALX LA 20 ik, 5 AR — 5
Zo 12
T A 2 DS R AR Rl ié
The children in class 3P voted on their g
favourite pets. Sally recorded the re- 7
sults in a column graph but forgot to g
draw in the column for cats. 4
There are 29 children in the class and g
everyone voted once. 1
How many children voted for cats? 0 P pm ﬁ’ﬂ?l %
(A)5 (B) 6 C) 7 fish cats dogs  rabbits
(D) 8 (E) 9
10. i T3 — 12
(A) 1A—phn k2 MUz — (B) 2 AMPUsrz—hn b 2 A~—2f
(C) 3AMMGrZ—hn b 1 A~—2F (D) A2k k1AM 5y 2 —
(E) 4 MUz —hn b 1 A~—2f
Which of the following is a whole?
(A) 1 half plus 2 quarters (B) 2 quarters plus 2 halves
(C) 3 quarters plus 1 half (D) 1 half plus 1 quarter
(E) 4 quarters plus 1 half
11-20 &, B 4 47
Questions 11 to 20, 4 marks each
11. 5kOKKHK 58 A5 EL B BIEM 1528 Lo B THRE— A 1440, eSS —A 14 L
I T 12 A4 iFRER G — R BRI LA
Mrs Chapman put 58 books back on the library shelves. She put 12 books on each
shelf except the last shelf. How many books did she put on the last shelf?
(A) 7 (B) 8 (C)9 (D) 10 (E) 11
12, XA SO IE ST A VR 2 A /NI IE ST 7 1R it i
B o
TH R MRZA R LA Z DA/ NESL TR REWE 5 ° ///

This solid cube is built from small cubes.

How many small cubes cannot be seen from this view?

(A) 6 (B) 8 (C) 9 (D) 10 my1
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13.

NE R
i T 5 JEHE Wk 6 EME BTN T BN, BR

1AESE 2 R

T i AR R — R A A ok LA

(A) 5 1 =% (B) % 2 JZ#% (C) % 3 JZ#k
(D) 5 6 JZ1% (E) % 8 JEtk

Shelley walked into a lift.

4H

She went down 5 floors, up 6 floors, then down 7 floors. She was then on the second

floor.
On which level did she enter the lift?
(A) 1st floor (B) 2nd floor

(D) 6th floor

(C) 3rd floor

(E) 8th floor

14.

ANNIAK ST AT T — 8 B 6 B B BT . G

B IRT FL T A I ) 5 B A

MABE 35 A AT B3 A B 18] EG M

{H AL S kg e

(A) (B) bt (C) M
(D) ZhK (E) AMZS

Six friends each make a phone call to another
city.

The cost of each call depends on the time taken
for the call as well as the distance.

From this diagram decide whose phone call lasts
longer than Pat’s, but costs less.
(A) Al (B) Bill (C) Jo

(D) Mia (E) Zac

80c

60c

40c¢

LT 3%

20c

80c

60c

40c

Cost of call

20c

[ ]
[ ]
[ ) [ J
( ] [ J

3 6 9 12 15

ISf ] (43%h)

Al
°

Jo
°

Pat| Mia
° °

Zac

Bill
° °

3 6 9 12 15

Time (minutes)
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15.

BTN I 2 05 ez —&F R T LA MR E %, 2
zﬂﬂu%%\@%,@$ﬂui%o%H%W~ﬁﬁ
Iji»

One of these shapes made of squares has been flipped and
turned to make the following pattern, without any over-
laps. Which one?

’ -

(A) B) (C) L — (D) (E)

16.

KAREN. WARREN 5 ANDREW = A\l L8Rl 7Rt DL
FEAEMATTEA 2 H 3RS L8R AR T 4477

AT AL H A AE AR H I, B b T S EE A —
Lo BEFE AN R B SRS |

T MM 2 R B DA R R R

D

\WAR

Sh

Karen, Warren, and Andrew bought plastic letters to spell each of their names on
their birthday cakes.

Their birthdays are on different dates, so they planned to reuse letters on different
cakes.

What is the smallest number of letters they needed?
(A) 6 (B) 7 (C) 8 (D)9 (E) 10

17.

QM WS Ei 2PN

E&%%%HWHL,ﬁﬁm&%ﬁﬁﬁﬁ%k%,@Aﬂﬁﬁ%ﬂ%ﬁ%o%ﬁ

At Susie’s party, they have four pizzas to share and each person gets % of a pizza.

How many people are at the party?
(A) 4 (B) 6 (C) 8 (D) 12 (E) 16
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18. /NRTEEM T IREME IR, 47 LEH EHTIREE
VEIRES B & B . 9:00am L
TR 0 b B T R R R A AR — I P B i s e B 10:00am %%
% ? 11:00am  fKE

11:30am B H1E
12:30pm 4L

1:00 pm ey

2:00pm &F
Fred looked at the clock during the Library Friday timetable
lesson. 9.00 am English
Which one of these times could the clock have 10.00am Mathematics
shown? 11.00 am Recess

11.30 am Library
12.30pm  Assembly
1.00 pm Lunch

2.00 pm Sport
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19. =MbrERT—HecE — Mo fE k., KPR, g
WHH 7 AN
BB 114w S 2 A 52

Three standard dice are sitting next to each other as
shown in the diagram. There are 7 faces visible.

How many dots are hidden on the other 11 sides?

(A) 26 (B) 36 (C) 41 (D) 54 (E) 63

20. KM 1 2] 3 HBCE AN E Fros i B R N . Hi T
AR LT B A 15 P P A AT LUSEON AR [R] B
AV PENIITT . R T EAR AN &
/NATRE A e

The numbers from 1 to 3 are entered into the
circles in the grid shown. Two circles joined by a
line may not contain the same number.

There are several ways of doing this. What is the
smallest possible total of the eight numbers?

(A) 10 (B) 12 (C) 14
(D) 15 (E) 16
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21-25 i, 445 5 4%

Questions 21 to 25, 5 marks each

21. ABUNRSE S TS R R ERASE OB RS R BRI S 2 Y A
5o TH I Z DN B 5 UMUK R NG B Y EE R 4 2

Six small eggs weigh the same as five medium eggs. Six medium eggs weigh the same
as four large eggs. How many small eggs would weigh the same as five large eggs?

(A) 5 (B) 6 (C) 8 (D) 9 (E) 12

22. —LIKRE R ITERANTTAE RN, BEAME
AT 0v0o-
B 585 —1THEMBEZ 575 H
Vet o : f 4
T ) — i AR O 5— ik 1 o iy S A 0 é ('\ <'\ 2
TS
Pictures of fruit have been placed in this grid ( t o 0 6 18
to represent numbers less than 10.
The totals for each row and column are shown.
What is the total value of an apple O and o % 16
an orange O ? 21 19 18 29
(A) 8 (B) 9 (C) 10 (D) 11 (E) 12

23. M R RIE AR E TR R I — AL
. mMEFR. BAEAN/NETERERA 1 cm?,
T MO XA AN IEZ B % D cm??

Warren drew two large squares that overlap to form
the hexagon shown. The area of each small square is
1 square centimetre.

In square centimetres, what is the total area of the
hexagon that Warren drew?

(A) 12 (B) 36 (C) 48 (D) 60 (E) 72
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24.

YIRS 20 MOBE TR HESI B —A7 . A JolGESE — M,
P K2 B AR A DU MO T G

FEE MR, B BUES M, #5552
Ja B 2 = A T HIGE

EMRRAEET ., C PUES MM, #E K2
Je AR 2 AR T HGE

)i D BUEFTA T HIRE .

B R LT ANBGE R T AR A 22 2

(A) A&, A % (B) ZH. B jUsHRZ (C) 2HY, CRER%
(D) HY, D fueiz (E) 847, A THARRE T AR — A

Beginning with a row of 20 coins, Anh takes the first coin, then every fourth coin
after that.

From the remaining coins, Brenda takes the first coin and every third coin after that.
From the remaining coins, Chen takes the first coin and every second coin after that.
Dimitris takes all the remaining coins.

Does anyone get more coins than all the others?

(A) Yes, Anh does (B) Yes, Brenda does (C) Yes, Chen does
(D) Yes, Dimitris does (E) No, they all get the same number of coins

25.

ANIEA 5K 20 cm x 20 em HAEATEE R 4R MHT S A N AT % S S T
FERARAEME A HBIET T, HNEAA A 8cm x 8em WA GIET . HHE
MRS R IETT e 2 R % /e

20 cm

8 cm

8 cm

20 cm

Yasmin has a 20 cm x 20 cm square of paper that is coloured on one side. She folds
over a strip along each edge to make a white square with an 8cm X 8cm coloured
square inside. How far from each edge is each fold?

(A) 8cm (B) 6cm (C) 4cm (D) 3cm (E) 1em
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Bl 26-30 HE A 000-999 Z [AIHIHEES,
BREREEER R EXMHAE.

526 G 6 4y, 527 BN T4, 528 L 8 4,
% 29 H5 9 4y, 45 30 H5 10 4

For questions 26 to 30, shade the answer as an integer from 0 to 999
in the space provided on the answer sheet.

Questions 26-30 are worth 6, 7, 8, 9 and 10 marks, respectively.

26.

DU L5 T 7 — Lt 5D B AT T«
Pk T A 55 C KIIEE) 15 4 TG A 5 B
RBIEARE] 18 43 WRETFA B 5 C KB 13 4.
ETRFE GRS T B K. TS5

Four archers are having some target practice, each with two
aArTows.

Ari hits regions A and C for a total of 15. Billy hits regions
A and B for a total of 18. Charlie hits regions B and C for a
total of 13.

If Davy hits region B twice, what will his score be?

27.

ZNHEA S O BARR — A =08 iy DUF AR R -

o XAKLFEINTIE 3 5 11 #Exk.
o XA 1 NI 2 5 7 R,

XA R 42

A teacher wants her students to guess the three-digit number that she is thinking.
She gives these clues:

e [t is divisible by both 3 and 11.
e If you subtract one, the result is divisible by both 2 and 7.

Which number is it?
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28. XLEE PR —L8/INIE ST T ARHERR T Y o
B QY ERLRT— A2 — A NESL TS —ANESLTT AR —A/NESL T
R E A R S R RS DANESL T A
1 K 2 Bir 3 Bir
One step Two steps Three steps
These staircases are made from layers of blocks.
Each staircase is one block wider, one block longer and one block taller than the
previous staircase.
How many blocks are needed to build the 12-step staircase?
20. FEFUNSERP . FH av b e HMRE 0 5] 9 R RACR.
TH I ZALE abe T4
In the algorithm below, the letters a,b and c represent different digits from 0 to 9.
What is the three-digit number abc?
a
a b
a b ¢
+ 1 0 0 0
2 0 1 8
30. FoRr IERB RS

1234567891011121314151617. ..
WY E A 100 NMER, RIS X NMEUERT A2
I wrote the counting numbers joined together:

1234567891011121314151617. ..

Which of the counting numbers was [ writing when the 100th zero was written?




Answer Key

30 509 693 90 118 101




